Ratio to ATLAS

1.6

1.4

1.2

0.8

0.6

0.4

0.2

0.5

7000 GeV pp Underlying Event
= - r . r T r T T
-p_> density wrt@ of leading track(|n| < 2.5, P >05GeV,p >2 Gev
- m ATLAS o
. --f3-- Herwig 7.2.0 default _
| —&— Pythia 8.165 default o
[ ¢ Sherpa 1.4.3 default _
o
e n
- ' T
N T Lo
- *

_— ‘EtﬂTiﬂiﬂ1iﬂi-'_-'-_|-- "QQO ""’ ]
- "‘0¢o044»o444&444w0000’ .
e e
N o 1 2 o e e e s S D E L E S S =
o . i
- ”"***4¢4o4w¢www44w¢4w444w4444w&4*0”””’—
| 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |

left|gright| (w.r.t. leading track) [rad]

Rivet 3.1.0, = 5.4M éVents

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


